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[A6]HE)II R4 B (BeoKith : HE)IN)

KEEZIRH KEBEE R448 | R45A | R46A | R4ATA | R48H | R49A | R410A | RA11H | R412R | R5.1A | R5.2A | R5.38
— AR #%K1mLF100fELLF 0 0 0 0 0 0 0 0 0 0 0 0
jcﬁ:f'a _ BHIhiLIE THH THH THH THH THH THH THH THH THH THH THH THH
ﬁhs#{\&tﬁ%mt@% 0.003mg/LLAF — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 —
KEBEERVZDILED 0.0005mg/LLL T — <0.00005 — — <0.00005 — — <0.00005 — — <0.00005 —
ELORUZDIEEY 0.01mg/LLATF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
MRUZDILEY 0.01mg/LLLTF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
ERXRUVZDILEY 0.01mg/LEATF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
A [AESOLIESD 0.02mg/LLLTF — <0.002 — — <0.002 — — <0.002 — — <0.002 —
g Eﬁéﬁ’&‘iﬁgf _ 0.04mg/LLATF <0.004 — — <0.004 — — — <0.004 — <0.004 — —
= vﬂ?‘ﬂl:%»f?j-‘/&mﬁjt&?p 0.01mg/LLLTF <0.001 — — <0.001 — — <0.001 — — <0.001 — —
o Eﬁﬁﬁg}ifé’z&%iégiﬁgf 10mg/LUATF <1.0 — — 1.0 — — — <1.0 — <1.0 — —
NDOHR H » — — — — — — —
% %ﬁ%&zﬂ%mtg% miﬂﬁ «E)S 0.01 — 0'38 0.02 — — 3?628 — «E)S 0.02 :
o iﬁ1bf‘i$ 0.002mg/LLLTF <0.0002 — — <0.0002 — — <0.0002 — — — <0.0002 —
& 1,4—91-%?*/ 0.05mg/LLATF <0.005 — — <0.005 — — <0.005 — — — <0.005 —
7;5‘-5; }1’;} It’é;;?—?,?—%)a;l&/:u%pp 0.04mg/LELT <0.001 — — <0.001 — — <0.001 — - - <0.001 -
5 ?;Jl:launxsyaw 0.02mg;LU-F <0.001 — — <0.001 — — <0.001 — — — <0.001 —
s | TR IFLY 0.01mg/LULTF <0.001 — — <0.001 — — <0.001 — — — <0.001 —
% WPIEEEL VY 0.01mg/LLAF <0.001 — — <0.001 — — <0.001 — — — <0.001 —
x [RvEy 0.01mg/LUTF <0.001 — — <0.001 — — <0.001 — — — <0.001 —
n |BREE 0.6mg/LLL T <0.06 — — 0.07 — — — <0.06 — <0.06 — —
f- |[VDDEEE 0.02mg/LLLTF — <0.002 — — <0.002 — — <0.002 — — <0.002 —
1§ |ZB0HLLA 0.06mg/LLLTF 0.004 — — 0.007 — — 0.006 — — — 0.003 —
g :gannmw; 0.03mg/LLLTF — <0.002 — — <0.002 — — <0.002 — — <0.002 —
SJOEIAAAEY 0.1mg/LELTF 0.001 — — 0.002 — — 0.002 — — — 0.001 —
e 0.01mg/LLLTF <0.001 — — <0.001 — — <0.001 — — <0.001 — —
Ry, \D;tg; 0.1mg/LEATF 0.007 — — 0.012 — — 0.011 — — — 0.006 —
PIEIEG 0.03mg/LLLTF — 0.002 — — 0.004 — — 0.004 — — <0.002 —
JOESH/O00A8Y 0.03mg/LLLTF 0.002 — — 0.003 — — 0.003 — — — 0.002 —
JOERILL 0.09mg/LLLTF <0.001 — — <0.001 — — <0.001 — — — <0.001 —
RILLTILTER 0.08mg/LLL T — <0.005 — — <0.005 — — <0.005 — — <0.005 —
FIMRUZDIEEY 1.0mg/LLLTF — <0.01 — — <0.01 — — <0.01 — — <0.01 —
FILE=)LRUZDIEEY 0.2mg/LLL T — 0.02 — — 0.04 — — 0.01 — — 0.02 —
& HRUZDIELEY 0.3mg/LLULF — <0.01 — — <0.01 — — <0.01 — — <0.01 —
5= RV ZDILEY 1.0mg/LLLTF — <0.01 — — <0.01 — — <0.01 — — <0.01 —
m';'ﬁ] FTRIDLRUVZDIEEY 200mg/LELF 6.1 — — 7.1 — — — 6.6 — 5.8 — —
n [ IVAVRUZEDIEEY 0.05mg/LLATF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
# s B A1A 200mg/LEA T 6.9 15 7.7 7.6 1.7 7.0 6.0 6.3 6.3 5.8 6.5 7.9
ﬁﬁ DIV L TR LE FEE) 300mg/LUATF 53 — — 64 — — — 50 — 60 — —
g (BEBERY 500mg/LLL TR 99 — 101 122 — 122 103 — 104 101 — 114
= Z'( EAA REEHER 0.2mg/LLLTF — — <0.02 — — <0.02 — — <0.02 — — <0.02
=% & CIFRAIV 0.00001mg/LELTF = 0.000001 <0.000001 | <0.000001 | <0.000001 | <0.000001 — — — — — —
§f ;;;;»;{Erh;gg—» 0.00001mg/LEA T — <0.000001 | <0.000001 | <0.000001 | <0.000001 | <0.000001 — — — — — —
VRS 0.02mg/LULTF — <0.005 — — <0.005 — — <0.005 — — <0.005 —
ng Jz/—)L¥E 0.005mg/LLL T <0.0005 — — <0.0005 — — <0.0005 — — <0.0005 — —
IE z ﬁl_ﬁ%(éﬁ&kﬁi(mo)wé) 3rng/:Lu'F 0.4 0.4 0.5 0.4 0.4 0.4 0.4 0.5 0.4 0.5 0.4 0.4
pH{E 580 E86LLT 15 7.3 ] . .
= = £ BEL
2R BEETHENIE BEELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL
BE 5EUT <0.5 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05
AE 2T <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
RRBIER (RITIRAD 0.1mg/LLAE (SETHREID 0.4 0.3 0.4 0.3 0.3 0.3 0.4 0.3 0.4 0.3 0.4 0.3
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